Pashu Parichar 1st Shift
- 03.12.2024

Which of the following physiographic regions of
Rajasthan share's”its boundary with Madhya
Pradesh?
Choose the mast appropriate answer from the
options given below:
(A) Western desert plains region .
(B) Semi-arid region
(C) Aravali region-
(D) South-castern plateau region
(E)  Question not attempted
T = Fefalas § ¥ Sew e oy
W2 5 W S el e s i
Pttt fawes ﬁ%‘aﬂﬁi}mmm?ﬁ
(A) it weereht e i
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Tropic of Cancerpastes through which of the
following regions of Rajasthan?
Choose the most appropriate answer from the

_ (A) 63050

options given below:

(A) Sirohi ' (B) Bhilwara
[C] Jhalawar ' (D) Banswara
Question not attempted

ﬁ“@m%ﬁﬁﬁlﬁﬂaﬁ

%mﬁsmfmﬂﬁfr T
(A) ﬁrﬁff P
(C)

(E) ﬂaﬂf‘““ N\

Which of thi ing regions of Rajasthan

shares its qund.ary with Gujarat state?

Choose the mos! appropriate answer {rom the

options given below:

(:) Chittorgarh  (B)  Pali

(C) Udaipur (D) Wogaur

B lion not atfempled
o Qmﬁ e 1 FA- 8 TR v
(4]
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The compound: interest on T 4,000 at 10% per

, annum l'or 1‘3 years, interest compounded half

yearlyls

74,0007 L—aﬁ;ﬁ-rqw%mﬁmzt%rmﬁm
m‘lﬁaﬂ'ﬁa@mm?

(B) T 600

©F T6a05 (D) 625
(E) Queslinn not attempted / STAfRE 77

@'ﬁm differcnce betwc:n the compound interest
4

and the simple interest on a certain sum for 2
years at 10% per agpum is ¥ 700. Find the
corapound mtcrmﬁc same sum at the same
rate for 14 W‘E n interest is compounded
half]ft:ﬂ.ﬂ.

M{lmﬁmﬁaﬁrﬁm&mﬁ
=mr1‘i =02 700 ¥ 36 Tld o0 36

aﬁmmmﬁmm‘tmm
ﬂﬂﬁmﬁm%l
) 1103375  (B) T 12,337.50
(C) T12211.25 (D) T 11,885.40

(E) Question not atempted / 37AfE 7

At what rate of compound interest per annum will

asumof 5,000 become T 5,724.50 after 2 years?
wafs = Y iR afim e 5,000 frofra

= 9T T 5,724.50 B =it

(A) 6% (B) 6.5%
(G 7.5% B 1%
(E)

Question not attempted / 37af@ Wt

What number should be subtracted from each of
15, 28, 20 and 38 so that the resulting numbers
are in proportion?
et 15, 28, 207 38 8 wedes & @0 oft W
wrerd e, P s s sy i g
)y 3 M@ 6
(Cy 4 D) 2
(E) Question not attempted / 37T ¥4
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The Nagoya Protocol in,access gng benefit
sharing was adopted under F_‘ﬁ appis of:

Choose the most approprigte answer from the
options given below;

(A) The Zoological Surveyprindia

(B)  The convention on Biélojsical Diversity

(C)  Preinvestment Surveydf Forest Resources

(D) National Centre “fér Biotechnology
Information Q W

(E)  Question not attempted o
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% il airfrem .
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(E) wafawy Q

First *National Space Day* (s observed on 23™
August 2024 because: o

Choose the most ﬂppropﬂ%g answer fran
options given belaw:

(A)  India became the fou

;ﬂ]counuyt on
the moon and the firstygireach the%
Polar Region on 23" gAvgust N
23" August is the binh%jl er of
Indian Space Prograniie
r'R‘>:;um!micﬁn of

23 August is the
was launched on

(B)

(&)
ISRO

Indian M

23"" Ay, 1] =l
(E) Question mpled!

W U sfafed feaw 23 0mer 2024 1 F

T
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31023 31T 2023 o yga o EH
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The state animals of Rajasthan are:

Choose the most appropriate answer from the
options given below:

(A) Tigerand Cow

(B) Tiger and Came N

(C) Chinkara and Camgl

(D) Camel and Black-Ranther

(E) Question not atiergpted
TR F T O

Frrafefaa freret 4 2 Tt Tagw I
(A) s

(B) eraitde g

ey vty feor (fewnm 2ind=
(D) = m}rw@
(E) i o
. ‘"3““3{5 1.; g

Which of M&ﬁﬁwm is associated with
the engal drnin?gc system?

w the most,appropriate answer from the

" opliens given below: &

)} Jakham Chambal
(C) Mahi Sabarmati
(E) .Question not angmpted
Frefafan & S = ape Fraw ssaedr
Heifira <
Freiferfta et 3 & F3Hire suge sms.
'm]_ STEay T
(C) wrEr % HIETHT
(E) orqafEuy 0
: o

Which one of the folloMing rivers does not floyw
in Rajasthan? i

Choose the most approgriate answer from the
Options given below:

(A)  Subamarckha (B) Mahi

AC)  Luni @ Banas

(E)  Question not atteppted

ﬁqﬁlhﬂﬁﬂﬂi’m%ﬂmﬁqﬁmh

Fresfirfire fararedl i @ Rl IO I
YA) WWIM!

(D)  mmi o

(€)
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(B) * srpufer au
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bDER.

which of the following National Highways pass
* wouch Rajasthan?
Choose the mest apprepriate answer from the
options given below: -
{A)
(D)
(<)

National Highway no - 208
National Highway no - 4
National Highway no - 10
(D) National Highway no - 11
(E)  Question not Altempted

ﬁwﬁ‘r&nﬁﬁm.m

Identify the Rajasthidni player who represented
India in Paris Olympiecs 2024,

Choose the most appropriate answer frq
options given below:

(A)
(B)
(C)

Lalit Kumar Upadhyay
Maheshwar Chauhan
Neeraj Chopra

N
. \ |
(D)  Aishwarya Pratap Sin@mar

(E) Question not M

98 e faw S e
ura =7 wfafafie fran:

Freinftan feaved # & wrarffires Twges sw g,
—A) e g ITTeT '

(B) wrewli hem

(C) et <z

(D) ¥ vy fig A
(L)

{
he
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In which of 1he following Bames hay gy
Chaudha 1y of Jhunjhuny (Rajasthamy Wwon m
ot Macau, Ching in June, 20247

Choose the’ sy appropriate
options given below:

(A) Gymnasties

(B)  Sambo

(IC:I Chess

(D) Bndmintnn

iy

edyy

MnSwer from, Ty

resented  which constimency in (heléd
Assembly?

-
16 Q\hi.ajan Lal Sharma, CM of Rajasthz
QD«J

Choose the mrost apprapriate answer from te
options given belgw:

(A)
(B)
©)

Sanganer

Shahpura

Siwana

Rajsamand
B Question not altempled
TSTE % e o s e v 1 et P!
3 fomw gy a1 it firer e 8
PR e 2 wrtfirey g e g

LAY T
(B)  Fmegn
(© firamr
(D) Temm=

(B) safm wer
| Cor
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17 Which party has won Danswarg Parliamentary

constituency (Rajasthan).in the 2024 Lok Sabha
Election? L

Choose the most nppmprf'nm answer from the
oplions given below:

(A) Dahujan Samaj Party -

(B) Bhartiya Janta Party

(C) Bharat Adivasi Party .

(D) Indian National Congress

(E)  Question not attempted )

2024 & HFT T F R o ¥ aiwarg
(TrTEaT) HEET 87 W S v i

frffaa fawed # @ waifis sogw s
(A) T w99 9ET 5
(B) T SeFar 9}

ey v anfearedt o

(D) e Sy wilm

(E) wqaf@wy

A sum of ¥ 1,800 is divided among A, B, C so
that A pets %' of C's share and B gets %‘ of A's
share. The share of C js:

_ T 1,800 F1 ufiT ¥ A, B war C § 30 wEw A T
FAsTiCcHyma 2 T p A T
TR BT 81 C 57 vy
(A) T600
(©) 900
(E)  Question not attemipted /

(B) 1,000
AD) T1,200

m&@ﬁ“
The process in which the s&ﬁ?ﬂlﬁ of onc

breed are maged r
ith lh& or females 0

another breed js : \

Choose the » i" the

oplions given ::D PP%’IM: m'fwr from

(A) Inbrcl:ding (B) Out breeding

(C)  Back crossing (D) Cross breeding

(E) Qutﬂlinnnotancmplcd

e ot v v 3 g o gt
¥ T gy e 8, o B ail

ﬁ*"';“rﬂ_“ﬁ'*ﬁﬁ%mﬁhmm =

(A)  SHy N

(B) 9T wory

(©) Wi gy wifkm)

AD) #

(E)
DEF-D14) 3

e

20  How many parts arc there in the stomach of a
camel?

Choose the most apprapriate answer from the
oplions given below:

(A)
(B)
(©)
(D)
(E)
wE F2 & AW 7 fe T e 2
Frefafian fawed & & waffis svge sm T
(A)

Five
One
" Two
Three
Question not attempted

#11 kc&{ng from all narural orifices and distress
mbling is important clinical symptom of which___

of the following diseases?
Choose the most appropriate answer from the
options given below:
(A) Black Quarter
(B) "Hemorhagic septicemia
(C) Rabies
(D)  Anthrax
(E) Question not attempted
ot wFfF ol ¥ e i Fwdt Sy
Frafafea & @ few W0 91 @& et Yo
T &
P fifiar Rt 8 @ waife sugw sy
(A)  =¥a e

)~ Feeiitfores At
©)
(D)  wam

(B)  argafewu
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Foot and mouth discase in ealtle is caused duc to
infection by Q

Choose the most nppm;{%!e answer I"rnm tI1=
oplions given below:
(A)  Fungi (BYO Bacterin
(C) (DY Prolozoa
(E)  Question not attemplied

;ﬂaﬁi:q:m'-g‘sqwﬂnmm

Virus

HFA

-+ PR fret 3 watfires svge s g

L) wE

B2 <y (i)
Uy~ Ramy @m0 e

(E) ¥y}

! ¥

* Grooming of calves is dofSito:

Choose the masy nppmp?nfe answer fnm the
options given below;

(A)
(B)
()

Keep them clean o
Get fib £

et libre Cﬂ
Avoid licking
(D) Decrease blood \‘.‘u!‘ﬂnllon
(E) Question not attem d

m@mﬁmﬁmb

/\

O

g ﬁmaﬁm&mﬁiﬁﬁﬁafﬁm R

{A]
(B)
(C)

—~tD)
(E) " "f

‘Fm_,eclb was Iaum:Pd in;

Choose the most appropriote answer fom

options given below:

Wﬁwmﬁ%%@ \’
1 (@) W
mzﬁ%m

& fo

the

{l@ 1962

(A) 1973

(C) 1968 (A 1970

(E)  Question not allcm'pq:d
vam gfeeA (A !m"lliﬁrnl;&
famfafaa ﬁﬁ na :"'3'“3?1{ %

1973 9 {u} 1962 1
(C) 196BH (D) 19704
(£)  srafa uyg

DEF - 1314 | &

-
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- ©

Which of the fu!tmvi%is not a forest iy, '
o

Choose the .most. a&apﬂam answer Frg
oplions given belowi

(A)  Protected foreid

(B) Reserved fureg

(C) Unclassed forests

(D) Indigenous farE,ts

(E)  Question not aftempted .
Presfesfiaa # & B2 st el vow;
¥ ©

Freafetan Rt  &rrarffires s s
) = ;

o
l.'B]\_

resource?

w0
o ) i
Fgwf v E;!I

Animals whose mm;lrs are reducing 10 1¥°
that they might face Edinction are knowa®
Choose the mosr appgopriate answer fea®
options given belowsD

(A)
(B)

Endemic spe:?s

Endangered shEies

Extinct sptcir,'g ' ..:'.'3
(DY  Susceptible species 3
(E)  Question not attempted t!“F
W sig Ry mﬁm@m e
3 el e wca f s gl
Freafn et & Qrfes g |
(A)  vnfiw i "

AD) mw:raﬂlﬁ; ;
(€ fagwanfirat
(D) TErEATre it

AT vt

(E)
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27  Which of the following statements is not correet
about laterite soil in Rajasthan?

Choose the most apprapriate answer from the
oplions given below:

(A) Tt is formed by the crystalline and
metamorphic rocks, '

(B)
(9]
(D)
(E)  Queslion not attempled

Fr=fafaa & s -ar sm v f S 721
T W e ¥

Freafisfiaa frasedt 3 & warffiras g o g:
(A) TeFEEaEE @enwgET ATy

T TRT FTOCH vt et

wie 3iw &1 sufeafa & wwor 7% @@
ST 1

T qate wrE § e g S )

FFafw an

Arrange the following districts of anus%

descending order according to theig li e
{Census 2011):

This soil is found in Dungarpur,
1t looks red duc to the presence of jron.

It contains enough quantity of phospliorus.

(®)
©r

o7
(E)

28

a. Churu

c. Alwar d &h

TFEE T ﬁaﬁ@pﬂmnmu (2011

FTOTET) F T2 W T

a. o5 b, @

c. ~ #AEW d.  ferirdr

Choose the most upprapelate answer from the

options given below:

sfrar faw o, fararendi 3 @t araffirs g 3t g:
mﬁ' b,e a,d (B) o, b,ca

(C) ab,cd (1) b,aced

(E)  Question not attempted / srrfta 44

DEF-Bl4] 3 ' 7

29  “Vijaya Stambh",

constructed by?

located in Rajasthan was

Choose the maost apprapriate answer from the
oplions given below:

(A)
()
(C).
(D)
()  Question not attempted

werear # feenr fm wore w1 G G o
Emary

Frerfefr favmesdi it § rraffins sogm g

Nappa Rawal
Mahmood Khilji
Rajarnjn Chola

Hana Kumbha

uu

3 \shupkcepcr sells an item for T 900 and sufTers

(<\ "2 loss of 10%. To eam 12% profit, for how much
should he sell the item?

Uk e it aw) @Y T 900 F e § odv w@
10% i el 81 12% =7 sifife et % Rqu gy
Ty 1 fory i v wife
(A) 21,100 (B) T 1,098
& w1120 @ 71,112
(E)  Question not attempted / 3Taftr war
31 Nikhil sold an item for 2 1,425 and sullered o losy
ol 5%, For how much should he have sold iy 1o
cam 0% profit?
Fferer 3 o wwy 5% wif i g 2 1,425 3 drefyy

10% =t sifbfor w0 ¥ fog iy g
Usrf) wnfieg iy -

(A) 1,662
© 71042

(B)  T1,6387s
-t T 1650
(1) Question not atempled / 3gafar gy
[ Conta,.,
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32 Ashopkeepersold onitem for T 960 aflerallowing
20% discount on the marked price. What will be

the selling price of the item If he gives only 12%

discoum?

wmﬁm#ﬂﬁmwmmwﬁ@m
I T 960 7 3 aft ww Ferw 129 A g I A AW

e a ey ea W e
£ T1056 (B) T968
. (C) T998 (D), 21042

(E)  Question not attempied !Mﬂ'ﬂr{'i'l"ﬂ'ﬂ

33 In which folk theatre form'is its artist called |

*Behrupiya’ (Impersonator)?

Choose the most apprapriafe answer from the

options given below:

(A) Tamasha (B), Swaang
(C) Gavri ) {D}l Ramavat
(E) Question not altempiied

fervm wiYer vz Sl 3F ST Y e o

n -
Fraforfin fredt f & warffires swgm am
AA)  TET

(C) walt
() wyefmug

i
g L
* i

34  Where is the KEOTBdf@ National Park

located?

(A) Udaipur () Bharatpur
(C) Sawai Mndhnpur{q Dholpur
(E) Question not attempted

mﬁwnﬂﬂmwﬂﬁwh

ﬁﬂﬁﬁiﬂﬁﬁﬁﬁﬁmﬂhmmaﬁl

(A) T R

(€ waimmdg (D) e

(B) agafarss :
DEF-B14 8

$§$\}\

i,
Choose the most \Iﬂff onswer from (he
options given ’

45 Which fort of Rajasthan was refermed ]
*Second Gibraltar of :htg:‘.fnrld 1 _."t"
Choose the: most apprepriate answe ﬁm
options given below: N

) {A) Junagarh r-l
(B) Nahargarh -
(C) Mchrangarh =
(D) Taragarh (Ajmer)
(F) Question not attefpted ' ;
e # firw fer @Iiﬁimﬁm |

é
62800 04

%H}uch ﬁfthr: I'aIIuwmg utdricts oI'RIJ“":u
the highest sex ratio in rEﬁll area nﬂﬂfﬂnn-

census of 20117

Choose the most appfopriate answes fra’?

options given belnlaw: : :

(A) Jhalawar

(B) Ganganapar

(C) Pali

(D) Jaipur

(E)  Question not attempted

2011 it sty %: r:mﬁ*

04162809

mﬁf*‘

ﬁnﬁmmﬁﬁwmwﬁ’“

A

(A) Viemarg r-l

(B) T <

4e) e o

(D) wmqT

(B) srgaferan o
B
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37 In which of the following arcas of Rajasthan, | 40 ~ Which famous temple was constructed by the
Salar forest is not found?
O N ——— legendary Bappa Rawal in ;h: 8 n::::ul::m .
options given below; Chicse! tha siear Mg/t s
(A)  Ajmer (- (3)  Udaipur aptiuns i h'dﬂw:
(€) Jaisalmergy (D) Pali (A) Hishab:ff::dw temple
(1) Question ﬁMaucmpled () Eklingji temple
ﬁm%fmﬁrmﬁi%ﬁm A 3% v e et A (C)  Shrinathji temple
I < (D) Jagdish temple
frefofas feedia @ waifis sugm g (E) Question not attempted
(A) 3R o ® X geff qrar=R & o e o fEw afag A=
AC) SFl o (D) Wl forqfor ataTaT TT?
@ S0 i fared 3 & gaffira 3agm 370 3H:
o (A) FTRA
38 Which of the foljayving trees is not found in th:_ ) x
tropical thom forBéls of Rajasthan? © * %)
Choose the mosﬂpproprfme answer from the [D)
options given below: . -
(A) Bamboo ¢ (B) Rohira
g; :‘;h“j':_ © am(:j;t:dﬂair ‘,& u:.less steel is made by mixing iron with
e . a Carbon | | b. Nickel and chromium
m: __{ﬂm_j‘;m - r\. c. Magnes;um d. Manganese
Pt ﬁﬂ:&ﬁ?ﬂ"{lmﬁa’ﬂi‘ %v Choose the ma.n‘ appropriate answer from the
&) = W oplions given below:
© ah \ (A) a,b nn'rd :i only (B) a,bandconly
() ﬂmm \ (©) b,canddonly (D) a,candd only
‘ :f (E)  Question not attempted
39  Name the fnﬂb&h)‘ j Surajmal in 1733. mmﬁﬁ%ﬁﬁﬁﬁﬁﬁm{mm
Choose the mogegpprepriate answer from the B il
options given beTdW: o w0 b B ST Wiy
(A) Gagron fo (B) Jalore fort ‘e Aefifiray 4. HrEe ;
(C) Lohgarhfort (D) Churu fort A1 g o e ﬁﬁmm:ﬂtﬁ
i (E) Question it attempted (A) Faea,bata
: 1733 & Hew=t zm fafifer et o A 8- 03, B! St
; frafafaa @ watfirs gugw ICT: e hﬁ“‘ m“
(a) R fED () ST e o ilaat-"? d
<5 mf‘wﬂ (D) e e © 8, cHtd
L@ s e
; DEF-B14] § ’ [ Conta,_
9
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43

When vinegar is added to baking soda a gas is
liberated which when passed through lime water
makes it milky, The gas is:
Choose the most appropriafe answer from the
options given below: :
(A) Nitrogen (B) Hydrogen
(C) Oxygen (D) Carbon dioxide
(E) Question not attempted
s 3w fre P s & @ o
Tt & < = 3 o 3 wanfire fom s o SRt
Rm A N A
e et 32 waifire FUGH FACH:
S TR ® v
(© iR By e R
(B) ryaf@wa ;

In which of the following arcas of Rajasthan the
desert soil is not found? -
Choose the most appropiiate answer from the
options given below:
(A) Kom (B) Churu
{C) MNagaur (D) Jodbpur
(E) Question not nl.tn-nplnd '
e ¥ Freafafos § 3 e o i T
=t o = A

ﬁﬁmﬂﬁ%ﬁ%mﬁ

Ll

owing wild life sanctyaries
is not located in R.nju.sthnn?

Choose the maost appropriate anxwrr from the
options given below:

L(A) TRomSagar (D) Ilamgnrh Vishdhari

(C) Bhensroadgarh (D) Bhimgarh. -

(E) Question not attempted

Frefafan # @ a=gsia snmameg

it T eyt 3
Pttt ﬁrﬁﬁﬁ%m‘fﬁﬁ:m

Lot mm () mﬁ
() B)
D S,

DEF-DBl4] a
10

45

ol

46

10

@D InMa i
through mavath.

Which of the following statements js nul.m,.q
about the climate of Rajasthan?
Choose the hfost appropriafe answer fron
options givcn below:
(A) T]-n: western  desert receives it l
r:unfall with annual average of 25 ¢y %:
(B) The .average rainfall is not high n!]
 Rajasthan because it is located H&L
interior part. J
(C) The extension of Aravalli rapge g
perpendifular to monsoon winds.

little amount of minfill s

2 e

csddn not attempted N
i&ﬂ:r-m:ﬁmm'ﬁmfi*_‘f
TET 87 }
S Y S E—E ——
(A) e e e e s e & h
fes i 25 2 21 !
®) e sfve auf srfi T @ i W l'
et s 3 feer d
STt siwen @1 frearc qEEA @ F
ST E
() 7y s et e A
(B) srgoftawsr i
Which of the following is not an alloy? i

Choose the most appropriate answer from B¢
options given below:

(A) Stainless stecl (B)

Brass

Mercury
(C) (D) Bronze
(E)  Question not attempted

RERAR 3 -1t Py et &7
FrefRiftam Rrevect & & srarfaras e 70 9F

EEY

[ Contd=
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s 50  “Rane Jagpat ra Marasya” was writlen to moum
of electricity? .
Choose the most appropriate answer 1 the death of- '
B R iy P rom the Chiimse the most apprapriate answer from the
(h) '[Odinc {B} ’ Su-t ] ﬂ‘l‘lhﬂﬂs gIVEn bt‘lﬂ‘.W!
(©) Graphite © (D) -CO:: . (A) Rao IndE)Smgh
(E} Question no Rltempted (B) Mnfmm%_\i(umbha
f‘qmﬁf@?fﬁﬁm_ any (C) Maharah@Jagat Singh
Frfatas ﬁmﬁﬂ mi:?ﬂamﬁ ¥ (D) Sant Nrm&cv Ji
(A) smEEE ®) W R (E) QucstioMat attempted
A8 Iw= W (D) W TR ST TR s ey %1 it wae 0t
€) ey © ferg feram mamey
Frafafas fasedi 4 & waffire svaw sac =3
#  To remove fmis’@ncss defect of eye we use L, il )
spectacles fitted wilh; . (C) werTom Sty g ameag =t
Choose the most gppropriate answer from ﬂ;.l.' (E) afta
oplions given beloW : : {/
(A) Cnnvcxo-cdéi‘iiavu S “Jeen wlht‘ cight armed goddess is
(B) Coneave len conside _ c:n'-:_:pmaticn of which Goddess?
© c?w"x]ms C '°56"'ﬂ'° most appropriate answer from the
g} Bifocal lens (Q lions given b‘;e:!.ow:
) Question no ted Sa i )
AF v :gémmﬁqaqa\ © Lgﬁ% fﬁ’;’ 2:;:‘
- i d 1
T T WA ﬁ;:\; \'\- (E)  Questiomgot attempted
(A) aﬁmﬁaﬁqﬁﬁ: mﬁ - # i -l Pt St e i e
®) sEEEFES P N\ ﬁﬁﬁ-{f@aﬁ;@ﬁ%m i
—4€) Mﬁﬂ%% \\J ' (A)  wo=Hd i 3 iﬁm?\:ﬁ
(D) fewwdidas \} ) wusfy g
E (D) Tt
(E) gafmus © (E)  safmtny :
Q =
49 Which dialect of tﬁgRﬂjn&than is s . 52 Tepp :
poken in the Teej' festival . 2
g:: on of Churu? &N month uf-ivnﬁka‘]mhm 'S celebrated ip e
oose the most appropriate answer from the Cho . -
options given bdo..ﬂf’ .usle t?m "N appropriare answ.
Wi Options given Wlow: € from 1y,
(A) Hadoli O (B) Wagadi (A) Py ﬂnw. o s g B
(©)  Malawi (D)  Shekhawati © Cm::u (B)  Shravan
(E)  Question nopajtempted B Quest (D) Kanik
“W'a??ﬁﬂ? wﬁi‘ﬁ‘iﬁmﬁﬁﬂh :;SIIOE-E.D{ altempleq
feredl 9@ watfirs g , “m'm'ﬁﬂmﬁm
@ N B) T i ) ﬁﬁﬁm e
() sqaf@un : (D
S (E) ~ ) Ffiken
DEF._p14) 8 © 3 “'Tiﬂﬁ?r'g
[ Contg,
]
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53

®

€Y A wemy

Where is the Kapil Muni fair held on Kartik

Poomima?

Cheose the most appropriafe answer from the
options given below:

{A) Recwasain Sikar
Chaksu in Jaipur
(C) Kolayat in Dikaner

(D)
(E) Question not atiempled

wfites gftfam i wfirer g e awet @ &2
PR el 3 & warkfires soge sec g
(&) HedEmE

LTS

(B) g ury

Diggipuri in Tonk

©) FwAferigh

55

at

N

®

(B) gmi@wa
54 The articlg of Jewellery called “Borla” is worn
the Rajasthani women in P
Choose the most appropriate answer the
options given below: . .\‘>
(A) Neck - . \k~ ¥
(B) Ankle :
[.C) Wrist ’\\
(D) Head \\4'
(E) Questionnot attempted
“ARET A AN TR A g
g S . '
P Reved # & satfires swgen s g
(A) TET
(B) =@
© wad
L@ fir
(E) orgai@ sy
DEF-B14 ] 8

12

11

12

i:))

5

To which arca of Rajasthan does Shree La| Joq;

a Phad artist belong ? !
Choose the most appropriate ANSWer from gy,
options given below: .

(A) -Bhilwara (B) Jaipur

(C) Thalawar (D) Kota

(E) Question not atternpted

TS TR 4 T I R W T % fr

CEE R

Prffan Rrered! § & FAIT® TG SACT:
LAy iearst (B) =
(C) TS (D) T

® s

Keoladev National Park is famous for 2

Choose the mosé appropriafe answer from the |

options given 4
feonservation

(A) El

ion conservation
Question not attempted
g T ¥ fevfezh

Frefafiaa frredt § @ waifirs svgw I T
(A) « ETeft HTeTor (B) mETHTET

ey -t (D) fie @ dew

(E) aTqmita s

“Chipke™ movement in Himalayan region was
held to resist against -
Choose the most appropriate answer from the
options given below:
(A) Road construction in hilly regions .
Hunting
(C) Cutting of trees
(D)  Over exploitation of forest resources
(E) Question not attermnpred
fommerdt @ 3% Rrgar aridvery
fore. wférina % R faar rar em
Frafefen fredt & 2 wraffe segw s
(A) oot O & e oy
(B) _ 3md2 (firmm =

o )
T TNy efer B
(E) i wsy

¥

—

[ Contd.
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Name the Hindu Saint, alsg Worshipped by the | 61  In which year was the “Mewar Praja Mandal”
pwslime a3 “Ramsa Peer®, ~ established in Udaipur?
Choose the wmest appropriate angwer from the Choose the most appropriate answer from the
options given below:
. options given below:
{4) Ramdevy ) (B)  Mehaji Mangia TEAQ § HATg T AT £ s &4 §9?
(o)) I}c\':m.my:ll'ljl (D)  Mallinathji Freferfiaa ﬁﬁq‘?ﬁ&ﬁaﬁ‘mmmw
(E)  Question not attempled
mﬁﬁmmmﬁﬁgﬁmnﬁ o S (A) 1940 (B) 1937
i © 1938 (D) 1939
P Rt & warif S T (E) Question not attempted / Wj?l'ﬁ?f 54
o) RS (B) Hewft wnfer
(€) ¥Rt (D) wfeeEme 62  The integration of the Rajputana into present day
aﬁﬂflﬁﬂﬁ - Rajasthan was :o?&d in how many stages?
59 What is the colour of the *Pomcha’ presented to Choos: t.h ° mﬂ’ MPHHM soswer from ¢
the mother of a new born daughter? TR m T et
Choose the most appropriate answer from the % o
options given below:' . o ,_
(A) Ommge (B Pink A ‘§h‘m Sl RA PR eI SO
{C) Yellow (I Lavender (‘\ . ) m 2
(E)  Question not attempted « 3 o
| mgﬂﬁmaﬁﬁawwq&wﬁm (E) Question not attempted / 37T T2
- Tr=fafas fawsi ﬂ‘mrffﬁa?
(A) =t 63  Which famous personality of Rajasthan is also
gy e known as *Banasur Ka Shaheed™?
(E) i ws = \\ Choose the most appropriate answer from the
F \.t options given below:
@ To which family o instruments docs the (A) Major Somnath Sharma
*Shahnai” belong? (B)  Major Shaitan Singh
Choose the most appropriate answer from the (C) Lt Gen. Nathu Singh
options given below: (D) Lt Gen. Sagat Singh
(A): ‘Suskir (B)  Dhl (E} - Question not attempted
(C) Beat (D) Bamel P ple
(E) Question not attempted E‘“ﬂﬂf%‘? mmﬁmmm'
e ararAT o feet i @ wafia 87
Preafafen et & @ watfirgs g 70 T P Rl 4 s s e g,
Yar g ®) @ ' B A 8) et e
© e ©®) @ © % wamyfis © A i e
€ omafawa ®) st sy
13

12
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64 Match List-1 with List-ll,

List-1 List-11

a. Non-melal used in . Graphite
ncid, gpn-pg_wlcf
and nmiiciﬁc{?l

b. Non-metal Lged 1. Mercury
in tlcctmdcg

. Metal used o2 Il Sulphur
electronic iﬁ&mmmﬁ
and wires )

d. Meul usndgﬂ y IV. Copper
lhmm:-mel-.-nﬂ . :

LSis I#Wtﬁ‘iua;rﬁanﬁﬁm

w1 O g

a W,Wﬂaaﬂt 1, e
Wﬁﬁnﬂﬁ
el S o )

b. ﬁmﬁz!ﬁﬂﬂﬂﬁ . \eERT I
areft anarg <P

e F@ﬁfﬁﬂ?a'%ﬁaﬂt . W
Hﬂﬂmaﬁaﬁaﬁﬁ

d. u:rhﬁztii iﬁqﬁ W\;&ﬁm}

areft urg HJ
Choose the m

options given

o1 e e e o & raiferes rgen v

(A) a-ULbLc-T,d-1v
® a-Lb-Rec-1v,d-u

:ﬂf a-1LbALy,c-1,d- 1M
B a-m, hg}‘c IV,d-1l

(E)  QuestiofTbt attempted / 3TFwf wir
DEF-B14) 8

14

13

\'\

~ \
}dﬂ e answer from the

65

14

Which of the following non-metal reacty y; ":l;l
canccnlrmctl nitric acid (HINO,)?

Choaose 1hc maost appropriafe answer from h
options givemrhelow: 2
(A) Todie2 | R
(n)
() '
(D) Sulphyp -
(E) Quesfioh not attempted ¢
Prefafaa 'g:)ﬁ Ha-Ht 27U X TLE 73 1l

\warlc{fg'non is part of which ﬁf'ﬂ#“
n owing pbﬂmgraphm division of Rajastban? -+
C'hoosc thc.ﬂqnst appropriate answer from ‘5‘1
options gllvéaoclow.

(A) Eastern plains region }
(B) Woestfm desert plains region :
<) Stmi%d region ’
(D) Amvﬂll region

"-'.

() Quesho UiSn not attempted
o AmgerreR ¥ freddew § ¥ f“u
N, SRR o a1 s

ﬁﬂﬁf@ﬂﬁwﬁﬁ&mﬁhﬁmm?ﬁ

(A) 'ﬁﬁﬁ@wﬁ— k)
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69

[
8
¥
b
ki
5':

*F-Ba) g

In which of the following areas of Rajasthan
black soil is found? !

Choose the most appropriate answer from the
options given below:

(A)  Churu (B) . Thalawar

(C)  Jaisalmer (D) DBikaner

(E)  Question not attempted .
m%ﬁnﬁmﬁaﬁmﬁmmm
4 fw e frresi t‘iﬁwﬂmgmmgi:
An I BT WEEE

(C) rEenr (D)  sfar

(E) 3Tgaia war

In Rajasthan (SEZ) special economic zone for
bandicrafis has been established at:

Choose the most appropriate answer from the
options given below: ‘

(A) Sitapura (B) Bhiwadi

(C) Bhilwara (D} Boranada

(E) Q:{csﬁon not attermpted

TS & weafireg & ford frdhy anfifs o A
ﬁQTTNT%: .
ﬁnﬁfaﬁﬁﬁﬁﬁﬂnaﬂﬁmmgﬁ T
AT Hiargn () Frash

© iremTEr ) ﬂﬂﬂ\}.

(E) Suf@ws’

Who has been awarded th Shri Award
2024 from Rajasthan in the field'of social work?
Choose the most ap, e answer from the
options given bélov )

(A) MrJ I

(B) Ms. Maya Tandon

(C) Mr. Kumar Manglam Birla

(D) Mr, Laxman Bhatt Tailang

(E)  Question not attempted

TSR & Ao T & & 3 gt qren, 2024
B Rl g i man

Frefeafta e # & wrarifires swgm sac g
(A) 40t st o

(B) WY g5

(C)  h Famt e fargem

(D)  =ff =roor v AT

(E) srqftawy

70

71

W

14

15

15

{
D2

Maich List-I with List-II.,
List-1 List-IT
(Project/Testival) (Place)
a. National park I.  Jaisalmer
b. Desert festival II. Sambhar Lake
c. Ramsar site I1l. Ranthambore
d. Braj Holi IV. Bharatpur
apeft-1 3w e 11 v e i
TEt-1 -1
EfArET) )
0. TSRO I ST
b, TS Hiteaw 1. \hEHE
c. TMECEIA o I, Tt
d. w9 gt IV. W
Choose 'Ifq most appropriate answer from the
optipn low: :

¥ & WAt sugw 3w

a-ILb-Ill,e-Ld-IV
a-Lb-Ml,c-1,d-1V
a-I,b-Le-I,d-1IV
a-Lb-1I,c-1,d-TV
Question not attempted / TR 2

)

®

Which of the following cultural/ tourism events
in Rajasthan will appear first in the year (English
Calendar, 2025)?

Choose the most appropriate answer from the
options given below:

(A) Braj Holi festival

(B)  Camel festival

(C)  Kite festival _

(D)  Baneshwar fair .

(E) " Question not attempted

TR 2 2025 (31l oy 3
R T S e g

ACT wirmimEm (D) e
(E)  oryafr e -
[ Conta..,
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71 Which of the following techniques is suitable for | 74 Which of the following are the exafiples

the disposal of bio-medical waste? communicable discases?

Chicken pox
| Y

a
; : b, Cancer {
aptions given below: ) /

(A) Gncincration c.  Tuberculgsjs
- d. Dinbetes™

Choose the most appropriate answer from the

(B) (Rruse Aty ™ !
(@) @ndﬁ" it | c. Chalera 'UD . T.-:
(D) "Disposal in running water Choose the moﬂ,ﬂppmpﬂmr answer [rom lhe! 3
b 3 options given bETdw: i
(E) (Question not attcmpted ;
ﬁnﬁgﬂﬁﬂmmmaﬂ_ﬁﬁmﬁqm (A) banddonly (B) a,dandeonly
 fres & R sy i g € ab ur!d conly (D) a,cand eonly ‘_
ﬁqaﬁﬂmﬁﬁm E?IT ﬁei (E) Questionfigt attempted ‘
S ﬁﬁﬁ-‘[ﬁﬂﬁ%ﬁh’-ﬂ FEEE TR =EEE
(A) '-imﬁm ﬁr.m
LUH- : - £ c. ‘tﬁfw \
(D) Eﬁm‘-ﬁi o
(E) Safawy

E'-"f, | | ‘&Q‘Nﬁ%ﬁﬂmﬁaﬁmﬁmgﬂ

73 Smtﬁ}-&n, tetracycline and e'rﬂhmmycil;g (A} et b ahEll (B) FaeTa,dafite
the

the examples of- (C) Fawa, bg'l‘ kpy= ¥aera, c oie
Choodethe most appropriate answer N (E) :-"TW e
options given below: \ ' ' :
) ‘m:ctma ®) A { 0 @ Divide ¥ 1,727Gnlo 3 parts so that their amount
{C} lll:lmllcs (D) %‘v PhrE, A aeid 3((gars respectively may be equal
t : m the rate of interfbeing 5% p:-cr annum at simpl¢
— interest. The swr?-'-?d partis .,
mﬁ" T 1,727 AR Al v s ife R s A -
WU BT 2 e 3, 4 ot 5 a4 wUT IE .
ﬁmﬁﬁﬂﬂﬁmmﬂrmﬁi: mmﬁhggmg: |
(A) Agdifer/sfary W e S i
(B) @Hiret (afireeth) - (B) T60 |
ey Tpitw e © 2552 g 1
|

(D) \fhaw {Lm-’ 7575

(E) %ﬂﬁnmf (E) Qu:stmnEl attempted / IrFARE 91X
DEF - BN'TJS '

16
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-;; On simple interest certain sum ot‘moncy amounts
o T 18,130 in 6 ycars and to T 20,090 in § years.
Find the rate of interest.

mmmgwm&maﬁif 18,130 By el
R 8 32 20,000 5T &) S o v

Y 8.5% ®) 6%

}

©) 7% (D) %

(E) Question not attempted J.37afta w

. it
177 Mendel performed hybridizatlon experiments on

| plants. &
Choose the most apprepriai¢-answer from the

options given below: ca

(A) Onion ™

Y w |

(B) Tomato =i

(C) Rose =

(D) Garden pea 3

(E)  Question not attempted

EECER CouR it & qt e frn

Freaferfarn faeredl 3 wartfrd Sugw s g Al

() g., . N
(B) <E v \
© Tw <L A)
—B] TR gy C’\k_

(€) sigefaws N

-

78 Which of the fo@ heterozygous
0

alleles? o~
Choose the most appropriat

& Cinswer from the
oplions given below: —i
(A) BothTTandu (B) 11

8

.© n @ T
(E) Question not attempted

ﬁnﬁrf‘mf&a:aq‘[ﬁﬁmﬁa@ngﬁm :
(A TTaMudE (@) ‘;,;‘,‘-[ ¥

© nu "EDY-TI'
o

(B) wimwn

16

Maich List-1 with List-11.

List-1 List-11

a. Phenotype I.  Genelic constitution
b. Gene II. External appearance
c. Genotype 1L t expressed in F1

féneration

d. Recessive v. :i-;ﬂcmrllmt controls a

character character
1 35 e 1 g Ry
-1 -1
a. SMVEEd I Sl g
b, ST IL. TR
c. SIAwEY 1. ) ¥t & e 7
- [ %
d. ST TTETTR, \;v t et i feredt wrepor
4V ?ﬁmﬁ‘rﬁﬁﬁﬁm%

Choose / \Huﬁ appropgiate answer from the

aptio ixen b:ﬁlw:

Tﬁé; freredt & & watfys 9gw IaCT:

f(A) " a-1,b-11,c-1I,dV .
a-ILb-1V,c-I,d=%

(C) a-Lb-1le-II, dzlV

D) a-IV,b-MIc-ILd} 1T

(E)  Question not attemptell / Srafa wsr
o

The Bhakra Nangal Project is a joint venture of
which of the following gr@ of states?

Choose the most appropfiate answer from the
options given below: ad

(A)  Punjab, Rajasthan, Otlar Pradesh
(B) Haryana, Punjab, th than
(©) Haryana, Himachal desh, Punjab

(D) anuslhnn.llnryanadjtm Pradesh
(E)  Question not attempted

WTEST i v Reafafe §
TEERm T O B e 3
Feafirfaa frradi @ Iug
(A) v, T, 39 gy bt o
©)  wfamm, feamm
(D) . rsreyr, wiemm,
(B)  srmf@wx

' [ Coneq,
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[
not associated with Rajasthan?

Choase the most appropriafe answer from the

options given below:

{A) Panchnadam project
(B) Sidhmukh dam project
{C) Jakham dam projeet
(D) Matatila dam project

(E) Question not attempted

fr=fifirs 1 & few o wte srha-aftdtsmn o g

Ty # A 7

Frftritaa Freredt § @ waffis gugw swog:

(A) wiAT ST gfgsET
v =t gfierT
(C) <T@y i aiEET

(D) ~ AT anT gfEET '

(E) syaftras

Rajasthan?

(A) Bikaner

(B) Kota

(C) Udaipur

(D) Jaipur

(E) Question not attemp
fircta ofter Terear 3 e v ot v 7
(A) T

(B) Frr
PP,

(D) =g

(E) Sigaf@awx

iF-B14] @

$

18

Which one of the following water dam projeets is

Pichola lake is located at which place in

P
"
N\

{

18

17

Mateh List-1 with List-11.
LAst-11

List-1

{Farm animals {Cnuscd hy)

discase) /

a.  Anthrax 1. Prowzoa

b, Cowpox 1I. Hypocaltemia

c. Cocecidiosis 11 nnctcrin'

d.  Milk fever’ Iv. Vius |

a1 3w geh-1 = firer ik

et i

(areft ¥ aggaft T M) (@FEE)

a.  FAT I T

b, TirteEn 11, TRt
m

c. Kaﬁm (it

d ﬁﬁ?tﬁm t‘cu faramey (AT

e ()

Choose ﬂmw

ypriate answer from the

. optiol low:

#ﬁ & waffirs sagm I
-, b-Lec-TV,d-11

a-llI,b-TV,c-1,d - I
(D) a-Lb-IM,c-T,d-TV
(E)  Question not attempted / =A@ w7

‘\q; a-M,b-ILc-IV,d-1I
Yo

" Approximate age of sexual maturity of buffalo

bull is 3

Choose the most appropriate answer from
aptions given below:

(A) 20 months (B) 22 months

(C) 18 months {D) 15 months

(E) Question not attemnpted :

WM B D e @ o
ol ¥

Prerferfae et & rartfiras sage s T
(A) 207umE AT 229%

(C) 18w®m . (D) 15¥m®

®  swufawn

[ Contd-~
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‘5 \\.nifh Or lhn fullnw:iug is nol n cn“lpﬂﬂc“[ uf"

: " 87  The percentage of total solids in cow ‘fnilk is
o " approximately
flx::us-: .I'.‘." most appropriate answer from the mmwﬁwmm!ﬁlﬂﬂw_____
options given below: iiine's -
i O A
(A)  Oxygen (O,) ) Choose the most approprialespnswer from the
()  CH, (Methane) S o0
C) Carbon dioxide (CO aoptions given below: 2
( Ll- y) 0D e "ﬁﬂwﬂﬁewmﬁ*
(D) Hydrogen Sulphide [1129']‘\1 " - "-I%' o
(E)  Question not attempted “‘E} /{‘m’f Iﬂf ) D f‘:‘y'Z'/
Pt 2 gy | e
A S AtC e R e — B Qi
e ST (0,) ) , d ied &2
(B) ﬂ]ﬂq [CHJ) () . B8 Operation Flood' is relate b
(C) Hﬂiﬂg‘rzﬂm({:oz}c} Choose l!lc maost appmprfaa;gf;mswer from the
(D) TSR HeFES (H,5) g options :g,werl below;* o
(E)  HaRawy W (A) oil t\ ) 'niilk
- — © fisn (§ & @ wpter
8 Which of the following Pithu Melas are (E) Quediipnhy attempted
conducted in Jhalrapatan of Jhalawar in ’ * Ao @ _
Raj 7 farredl & © WAl @aqgm 300 9
jasthan? o O e S
a  ShriBaldeva Pashu Melg L ) A By @%
b. Gomti Sagar Pashu Melaydy ‘b(m Lokl (D) Wﬁ
c.  Shri Ramdev Pashu Mel§™ (E) et war \ts}
d.  ShriChandrabhaga PashiNiela \ 1;
e, Shri Veer Tejaji Pashu I\AZ?: y \ 89 A shopkeeper allows succq.gjv: discounis of
Choose the most ﬂppwpr-‘m@nh'ctﬁvm the 15% and 10% on every item. He allowed an
options given below: - 'X additional discount to his friend. His friend paid
(A) aandconly (B) ng) d e only ¥ 2,907 for an item marked fGER 4,000. Find the
(C) c,dandeonl D’\_, d only percentage of additional disgQuat given to the
(E) Question no utlchtcd o 25 Eamd. o~
T # {remars G lﬁ”_I%lﬁﬁ . T FHAER Welidh T8 W mﬁm m%ira;ﬁm
a  Eda A < S e T 4,000 B THD R
b U@ ERSIE o R Iuh firg §
T 2,907 gay 36k Ber Y & v aifufen
c. ot e A . S ;oS QT wr
o T ST~ ' (A) % o
€. !ﬂiﬂ'ﬁ-iiﬁ"‘:lﬂﬁal‘ c:: : [B) 79 m
A1 R e Rt 3 A iy g SOCH| o w. ™~
(A) Faeasitc (@) o, bailte - O
© ﬁﬁac,daﬂte/ﬁm‘iéﬁhaﬂtd 407" S% v
(E) :ﬁgﬂf!?mﬁx "':f‘ (E)  Question ngultcmpte‘g;ﬂm“
DEF. p14 | 3 o 19 '
19
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/

Who is the captain of thel4™ Hockey ["*j‘ﬁluninr
i

o " 5| 20024 fi Hock:
arc reg.;m:llvd}' 0% and 40% 0 i National Champions hip ur ey
o 5 rnie { percentags is the first . et _,
he third number. Wha Rajasthan’ tea e
t { the second number? 1 Choase the mast appropr o :
nun'-bcl‘ﬂ m £ T 10% T A0 : I
wa‘l#mt Wfﬂﬁfﬁﬂﬁf’mh options given below:
ANT : ' (A) Mecna Mohit
ot (B) Kamalkant
G (C) Gurjar gachin Singh
50%
® () Himanshu Kumar Meena
" o T t attemnpted
(E) Question not attempted / :ﬂ':[ﬂﬁﬂ' (E) Question o s
e 14ﬁgmrrdmaﬁ=ztmzﬁ'rﬁﬁwﬁw .2

Three bells ring at intervals of 9 minulcs, 12

TerET + g 3 T H 62

91
minutes and 15 minutes espectively. MUNEY SO | o oo proet 8 grafires UG SO
ringing together at the same time, after how m Ay A :
tme will they next ring together?., (A) o
(A) 3 hours (@) 1 hour 50 min By FHEE ” .\
(C) 2hours (D) 2 hours 30 min © mEHeafE ;\
(E) Question not attempted . (D) feaig LS .
e vifeat w9 fire, 12 Bt 15 fre & ® HHWG
Sy X A 1 Wi TR W O @ T F\U
mqsmﬁiﬁmﬂ?mﬁmﬁ TG & 91 U 95  Inyhi ,;,cdidMnuijiwlnihcgnldmtdﬂ
Mo jnte Xsian Games 20237
B :Eit g ;:;f:::;: (Q'&w&' \ e the most appropriate answer from the
(cy 2 (D) i i
x : options given below:
FafE v
i : ' \ (A) Shooting
92  Three numbers are inthe ratio 3 : 4.2 6 n@ (B) Wrestling
HCF is 9. The LCM of the number i& © (Q) - Javelin Throw
A dEATd3:4: 6%%5%}% HCF 9 (D)’ Discus Throw
& 3 srersif T LCM t (E) Question not attempted
iy, o8 - i 2023 % v it & vy o ¥ fow 3917
@ B Qﬂ -2 d]:m " Euhcein
ESllDI‘] not a 1=
& i mﬁmﬁﬁ&mmmf
93 The HCFof 13.5,0.9 and 12 is: @ P
13.5, 0.9 74 12 %1 HCF (8% o) & B®) Fxel
(A) 54 A 03 (© v s
(C) 108 () 3 Dy fewwm
(E)  Question not atémpted / Glailfmgﬂ (E) aryafta wsy
DEF-B14) a o :
ICOII' o
20
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o In  Rajasthan under  the . “Mukhyamantri
Avushman Durghatna Bima Yojana”, the amount
paid by the government, in case of death of more
than one family member in an accident is:
Choose the most appropriate answer {rom 1lie
options given below: '
(A) T20Lac
(B) T 5Lac
{C) %10Lac
(D) T25Lac
(E) Question not attempted
T & e e g diar deer, ¥
vt fereft wlaTe 3 e & e e ¥ gk
TR YU YT T 7

ftatiaa freedi § 4 walfos Iugm w0 T
(A) 20w
(B) sEm@
AT Tiowm@
(D) v2sem@ (
i 5
97  According to Rajastban budget L@‘
February 2024) which of the full:%ﬂ
bond is proposed 10 be gwerﬂxﬁ through
‘Lado Protsaban Yojnai’
Choose the most afiprophigte answer from the
options given below: :
T Tz 2024-25 (8 HEA(r 2024) F A
emét s Ao § Wit @ fo A R
forer e 7 aTvE 3T WElE 87
Frerffa fawedt 7 4 Hﬁﬂ'ﬂmwgmmﬁ
(A) % 2,00,000
(B) 750,000
(C) <¥1,00,000
(D) ¥ 1,50,000
(E) Question not ““"F'PIM / mu—u
OEF.B14) 8 21
21

20

94

100

In Pre-Matric scholarship for 0BCs the
cxpenditure is shared between Center and state in
the ratio of: '

Choose the mast appropriafe answer from the

oplions given below:

{A) 100% stale sponsored scheme

(3) 70:30

(C) 50:50

(D) 100% centre sponsored scheme

(E) Question not alte mpted

s fro i 3 fort Afgw of owgfa 4 =17 &

¥z 1 T T 3 T 2

Prefifia et 7 4 Fugeh AT
T 100% ST AT T

(B) 70:30 C\ P

© s0:s6 N

(D) H wETIAr AW

L

\“
‘ .
&}h: average of the numbers K, (K +7),7, 9, 12,

15 and (2K + 1) is 9, then what is the value of
®2+1)?
FfFEE K, (K+7),7,9, 12, ISTM Q2K + 1) =
aftaa o &, 7 (K2 + 1) 5797 F1 87
(A) 26 ®B) 5

Aer 10 o 17
(E)  Question not atterapted / 37wt war

An item was sold at a profit of 15%. Ifits cost had

been 5% less and it had been sold for T 258 less,

the profit would have hl.':n 12%. Find u“: -

price of the item.

TR TR Y 1 5% T T AT 4 vy s

5% T AT T A X 258 ““ﬁwmﬁw
12% AT EYAT] 76 S e )

(A) 72940 (B) %3200

() %320 BT 23,000

(E})  Question not attempted / .

l Cunld"‘
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Which fort in Rajasthan was called the armoured
fort (Makhtarband Durg) by Abul Tnjal?

Choose the most appropriate answer from the
oplions given below:

{A) Taragarh (B Kumbhalgarh
(C) Nahargarh () Rnnthulm'borc )
(E) Oiixtion not attempled

araret wREN Y roveur  feure fivw frer 7 gtz

forem WPy
it i & wrarffirs Iuge swcg:
(B)y TIETE
D)  ToredR

101

-

(A)
(C) =EE
(E) gfaws
What arg-Bateliya, Bichhiyo and Lalar?

Choose the moesr appropriate’ answer, from lhc

102

104 Mame the folk deity of Rajasthan known ag g
Gotl ol camels-
Choose the most approprioie answer from

options given below:

(A), Mallinathji (B)  Gogaji

{C} TI‘.‘JI:IJ-II (D) TPabuji

(E) Qucslum not attempted :
F, TR et =1 A o 3w dama

e By

ﬁrﬁrﬁﬁﬁﬁwﬁiﬁ'&wﬁhﬁmﬁmsﬁ;

(A) mfeEmt () A

L (© Fmh <oy W

®) SR

Whicﬁ:ﬁcnn: of Rajasthani literature is just li

options gl9en below: - ttll:ng;n d listening lo a story?
(A)  FEM musical :nsr.rumcn{sﬂ" Chooiqghe most approprfnre answer from t
(B) Foik dances | 1 optiorig’given bel
(C) Fglk songs {(A) ﬂ-’igﬁt t } Jhamal
(D) Fplkdrama ,. () Vaat Parchi
(E)' 'Question not attempted (E)  Qu m‘nttcmpt:d
q&%m.%aﬂtgmwﬁﬁ - 177@11@ forar 3 s @t oy
() qTE  (B)  WE T fereredl] & & warffires Suges ICL:

~AC)  wiEyi (D) <rwTEE , i

C®  Hpiawm om ‘,?.:’ il

103 In ZDlughich famous folk dance of Rajuthmwgﬂﬁﬂﬂﬁﬂ Bk

was. ingluded by UNESCO in its intangihle

Choose the most appropriate answer

cultural heritage list? :

106 Which dialect of the Rajasthan is spoken in d

‘region of Kota, Bundi,

options fi¥en below: regiofs Thalawar and Bar
(A) KSiBeliya D gion?: ;
(B) A Danceuncc \‘} Chmg‘}he most appropriate answer from ¥
© *\ options:given below:
(D) quh TnahD (A) Walaw; (B) Mewati
f}mn m%‘“&n . ms g__:; mi‘“dh““ (D) Hadoti
= esti
| %@seo)#%mmgﬁmﬁﬁ Ty smn:[:; nm“emm;nmﬂ@ﬁﬁmz
A E::% . et Sl sy
AR izrﬁ (B) aqﬁ-!qag s -8 'i%%m‘%ﬂﬁmﬁﬁﬁmﬁmmu T
- A i
© TWET .. (D) el 3 (&) ::m (B) Wardt
®) o el
DEF-B14 ] 22 f‘; [ Contd~
=

22

21
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107

108

109

Which of the following is not the breed of bufTalo:
Choosc the most appropriate answer from the
options given below:

(A)  Murmah (B) Mechsana

(C) Beetal (D) Toda

(E) Question not attempted
fafafma i st e R ramadit
Fraferae R 3 & waifires 3vges s
(A) T (B) Wwwom
€ = APy =

(E) ¥mi@wx

Which of the following is the correct temperature
for cryopreservation of semen in liquid nitrogen?
Choose the most apprapriate answer from the
options miven below:

ﬁﬁmmﬁﬁmmﬁ%ﬁ '

HE ATIHI T 87

Pt fraedt #§ & waffis sogw st
(A) -86°C MBY -19°C

(C) -196°C (D) -296°C

(E) Question not attempted / Haﬂ'ﬂﬂ'ﬂ'ﬂ' \
'Ranbh@‘a

s \n\ m I.hv:
(C) Poultry

SN
O
(D) Cow

(E) Question not attempted

O weeig ey S I e fsger amr
&

P et & s s s g
A& g

(B) wwil =T

(C) Fagew
(D) Tmwr

A transmissible viral disease
common disease of}

Choose the mosr appropriate
options given below:
(A) Sheep

(B) Goat

ki

(E) gt wa
f-B14) @

22

110 According to *Rising Rajasthan 2024°,

111

B

112

23

Rajasthans

rank in installed wind power capacity is:
Choosc the most appropriate answer from the
options given below:

(A) 4t B 2™
cy ™ (D) 1*
(E) Question not attempted

gfem T 2024°, F SO 99T FA B
w1t &7V 36 7 5 TRTEIT 6 T -
Pr=ffa forereii @ wraffes o 3o
() =gd

(€) T

(E) orgafway

-
Who among me\]fﬁ@wing players of team
‘Hockey Raj hq;, ade the only goal in the

149 Hocl 2 Junior Men's WNational
Champiodsip2024 against *Hockey Haryana'?
Cho ﬂthmoﬂ appropriate answer from the
ven below:

ahil Ruhal {B) Sunil Mann
Anurag Suthar (D) Amit Khasa

)  Question not atternpted
Bt Tt & Fefafaa § § few e ¥
143 gou e SRR BT AfrgAfie-2024 F g
e & faes v e
Frrferttaa formedt 3 & watfires sugem swoad:
(A) witaws  (B) ghamm
(©) Fgurgur. (D) fwrarar
(E) gufas

Which of the following is a physical change?
Choose the most appropriate answer from the
options given below:

°p

(A) Digestion of food
(B) Rusting of iron
(C) Crystallisation
{D]' Bursting of crackers
Question not attempted
e 14 s i et 2
Prerfetfrer Reavesit 3 & wariferas
(A) “FwIIET  (B) R ::_E*
6 fredfteer () Serer
(E) 3rgaf@wy ety
[ Contq
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113 Which of the following fruits and vegelables

114

115

change their colour, when afler cutting, they are
kept open for some time?
o b.
c. Potate O ¢
c. Camot @0
Choose the magfyappropriate answer from the
options given belohv:

(A) acand d&lly (B)
{C) b,canddonly (D) c,dandeonly

(E) Question<Dtotternpted
Pt % & $0-8 wer S aert ek & TR

mm%%ﬁ@m&mmﬁwnwﬁaﬁqm
SLE

a

a. Apple Tomalo

Drinjal

a, band c only

‘&a"q“‘b.m

T oo ¢ 'm

. IEL

et fen g el & waffirs segw amas:
P, cBd (B) Fa@a,bRc

:&K FATb, cp{td @ ¥, a3

a0
When a nmnbu@inmm by 4745 %

c.

u@_

it becomes 590. The number is:
s“r
(A) 470 m
(D) % 2

Question pt:d:‘aﬁafmw

ma&émaﬂﬂu—%mm
it v \%
(BY 350

JE}" 400

(E)

If (150% of k) 3= 540, then the value of k is:
T (k FT 150%)XD3 = 540, Ak FTAH 2

_L» 1080 g
(B) 360 (5
(C) 540 o~
) 920 <
(E) Ques:ion%: attempted / 3TA1E wor
DEF-B14] 8

24

23

117

118

@ The total number of students in a school was 75y

8
;@1 of two
\'Sm number is 28

/ﬂk‘u

w0

As a result of new admissions an the school, th.

of girls increased by 20%. 11 the total number of }
students in the SCEP' became 846, then what jy

the number of girfshow?

m:mhunfhnvﬂm-fl-‘lﬂfd by 117 and the nlimm%
t
1
ot faorem & @fﬁh’l

T 11% gie ?ﬁrmﬁzmmﬁ:m;‘
fs ferarerm 3 RreARhdT 1 ot Hom 846 B A |
azﬁﬁﬁi‘cﬁwgmm?ﬁ
168 o
(B) 150 @D,
(© 180 t%
(D) 192
®

%E@nmpncd 1 ¥t w3

gmbcrs is 14 times their HCF
¢ sum of LENI and HCF is 600. If coe of
en the other pumber is:

& HERH N LCM (Faa wrade) 33 HCE
(FETH TS e) Sl 14 T & 9 LOM (@5
Wm”‘)ﬁﬁth&-:ﬁﬁwwm—]mﬁm
TR AR o T 280 8, A wh v
S ® 320

o © 120

Question nihnlncmptcd [ FFRRE BN

©
B

140

Il the average of S";J-lumbc:s is 12 and the average
of five of these nmbers is 15, then what is the
average of the remaining ﬁumbtm‘!

TR 8 HEal a2 12 & e g ot wEw
=1 3w ts%.ﬁﬁmnﬁmmwﬁ?
(A 7.5 N (B 6

© 65 \O 7

(E) Qucihon nw“grnpmdj ﬂ':!ﬂffﬂ qH
o l Contd.-
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1 [%n“: AVEraEe ape nl‘lﬁ?s inn group ol studenis is

120

121

“twice the number of-dirls in the group and the

le group of 50 students is
19.2 vears, If the 1y of number of boys amd
gitls in the group is 41, then what is the average
ape of girls (in years)2t

50 farfidal % e wf@l st o i s e
& wrsfaral 0 v A 2 S T Qg ) e
w73 19.2 ad ¥ aft wie ¥ Tk ot Wl

average age of the w

wEm § orqam 401 &, 0 e svrg (ardt
ﬁ'}ﬂ‘ﬂ?‘? (0] '

w17 o) 16

€y 18 o) 15

(E})  Question not afichpted / oa
peas ey

Udder secretion immediately afler calving is
known as disrich in

Choose the most apprppriate answer from the
options given below:00

(A) Calf starter, lgs%lB} Colostrum, Ig A
(C) First milk, Ig D) Special milk, Ig M
(E) Question not agtgmpted

E2)C el & Al 7 TR
Tl o
Frfafias fawedl & Sraifis

LX) R, Ig OUD)
(C) wuATY, IgE, 4D)
(E) ¥qaaud 4

=i

Which of the [t
community of the Himalgyas?
Choose the niost
options given below

not the pastoral

priate answer from the

122 Vast natural pastures on the high mountains, in

m%mﬁ:aﬁﬂaﬁgm%uﬁ%ﬁﬁhﬁ ﬂ"b

K

(A) Dhangar  OUB) DBhootiya
() Kinnauri  CMD)  Sherpa
(E) Question nol iﬂmpled
frefafaa 4 @ ﬂﬁ?@i‘mm W QYT WHE
T & O .
frefafe fasedt A 6 watfirg sagw I
) T @) wfemr
(© ; (D) drw
(B) N
DEF-B14 | B 25
25

24

Garhwal region above 12;900 feet are called: -
Choose the maost appr@fﬂk answer from the
options given below: o

(A)  Evergreen grassiddd

B) DBugyal i,
(B)  Bugya -
(C) Bhabar (=)
YD) Terai grassland

(E) " Question nat auegpted

AT 8 , 12,000 R A H1 Far 7 e
& werS Wt feamret s o e

-

(A) WeEER h
o T 4o
© )

(D) e ¥l % A
B, ™ oo
»

v
Nh.ich of the following digtricts ot‘R:.ij:.sumn had
the highest population™growth rate during the
decade of 2001-20117
Choose the most approppiate answer from the
oplions given below: o )
<0

(A) Jaipur

N
(B) Bikaner ﬁ
(C) Barmer i
(D) Kota )
(E)  Question not attemprea
2001-2011 % = # Rfefan & ¥ womy o
fimw ﬁlﬁ?ﬁlmﬁ@nq‘f%(m‘iﬁm o
frefafias Fﬂﬁcﬁ A R wogem -
(A) =AY Lo
(m)  dfwr
Uel T
(D) wer
(B) s gy
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124

125

Which of the following districts of Rajasthan had
the highest percentage of urban population in
their tolal population in the census of 20117
Choose the most appropriate answer from the
npl?c;ns given below;

(A)  Udaipur

M) Jaipur

(C) Kota

{D) Dikaner

(E)  Question not attempted

2011 3 s F T ¥ Pl F @ R
ﬁﬁ#ﬂmmﬁwmmmgﬁtm
1 waihus um? i

Freerftn et & & waffires soger smogh:
(A) TR

[ =

B SO

(C)
n_::}-=ﬁmirt ]
(E) argmfmwer

Which of the following statements is incorrect
about the image formed by a convex mirror?
Choose the most appropriate answer from the
options given below: '

(A)
(B)
(©
(D)
(E} Question no
EERELLET 1
ER-EocE Eoles
Frmafefian et 3 & wrafferes g o
(A) VTR TRIGA Y

(B) % smmet it &y

It is smaller than the object. -\}
It is virtual and upright. \1.~
It is formed behind the

]
aﬁége of the object.

It is formed on the

e edrEayam

(E)
DEF -

(D) Faegara T @ T g
et 99

Bl4] &

26

25

) St s P

26

126

| 4By~ Sk ) s

127

S

128

~H€)  Iaa oy

DifTused reflection is caused hy:

Choose the maost appropriate answer from thy
aplions given below:

(A)
(i
(&)

Conenve lens :
Irregular surface of the reflector !
Planc mirror -
(D) Dright and smooth surface

(1)  Question not allempted

forafrr (frafir g s s e &
Prefefere et ratforas g w33
(A) ST Ew

T 24T
st 3 R wae

argefta wr

is mostly used as side miror o]

(©)
(D)
(E)

PS———

vehicles,

Choaose the mes, "c':p_pmprfnre answer from tz:
options given X !
(A) Concliyelens
©)
(E)

(B)

irror (D) Plane mirmor :

p\%ion not attempted i

T ITANT SfirapeT areAt ¥ wrd 7
ey &1

3 faewet 7 & watfis sugs

(A) samadm  (B) aaaadw

(D) W& A

Concave mirror

IWTE: |

]
i

(E) qufaws

Who is known as the father of nuclear science @
India?

Choose the most appropriate answer from
options given below:

(A)  Dr. Har Govind Khurana (Khorana)

(B) J.C.Bose

(C) Rishi Charak

(D)  Dr. Homi Jahangir Bhabha

(E) _Question not attempted

e 3 Rt e R (g wwe) &
& T A ST ST B

Pt feravedtt # & wrarifires swgw s T
(A) 3. woifrg guayp) . .99

© wWRaw gy = O™

(B)  orgufta yy

I Cﬂnhl"
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129 Which of the following endogrine glands is

el

known as the master gland of the ﬁt'.uly‘?
Choose the most appropriate nﬂsttcr from the
options given below: "‘

(A)  Thymus gland (B) - '.r‘\.dr;:_lila'l gland
(C)  Pituitary gland (D) Tli}'fﬁil] gland
(E)  Question not attempted **

frmfafaa i d wa Iﬂamm:l’mﬁ:wmzﬁ TR
!]ﬁl“ mﬁﬂ [

Freafoter el ﬁmfﬁ}ww;armﬂi
(A) g ufu : ?‘1
(B)  arfugws (uge) sif <
~O G bt T
(D) wriryE wfa o
(B) wyafmuw

o

130

Which of the following conditionsTare correct for

donating the blood by a male or fEinale? .

a. The weight of a person must h‘?iibuv& 45 kg.

b. The person should not suffer {romp any serious
diseasc, .

c. Hemopglobin level in their bided must
between 8 to 12,

d. The person has not donated ‘rfaod s:nc

fwo years . }m
n& the

(B) b cunly "
\ dd only

Choose the most appropriafe
options given below:
(A) aandbonly

(C) b,canddonly (

(E) Question nof att
fireft e araal WLE I T IR FA 6 feg
s 7 8 F4- wErE?

a. Wﬁrﬁﬁﬁﬂ'ﬂﬁkg%wﬁﬁ{ﬁmm
b. Tafes far TivfiT T & difga sdhgm =fvw

c. ﬁmiﬁmﬂmshﬁimﬂﬁﬂ

afi) -

d. 3 efen 3 frod A § wwem :rﬁﬁﬁmt?n
:ﬁ-aﬁquqﬁruﬁﬂ‘fﬁﬁmfﬁ}mngmmﬁl
(A) aﬁaaaﬂTb,—ﬂﬂ" et a, baic
(©) b, c3Md () Fawcaid

e

DEF-B14] @

27

26

o
131 A flap like elastic cartilage whiglrgcts as a switch

“ &

between the esophagus and trachBd is:

o™
Choose the mast appropriate gpswer from the

oplions given below: i
{A) Dronchus g
() TPharynx

{C) Larynx o
(D) Epiglottis ()
(E) Question not attempted

@ R (7, Jeft e i weE S
mmmmremmrﬁm;mﬁgnasmﬁw

<fy wify e e 2, =
i ﬁm mscmm?ﬁ
® W @
( “%"Wﬁ w0
i —
O afE v g

132 Haemoglobin is preseat in — s

Choose the miost appropriate @wer from the
o

options given below: ¥e)
(A) Both white and red hlnnd‘%ﬁlls
(B) . Whitebloodeellst . ¢
(C) Redbloodcells |
(D) Platelets o
(E) 'Question not attempted g
¥rdreifir s s 8- N
A RS L D —
(A) =t i i mﬂﬂﬁ‘-ﬁrﬁ@ﬁﬁ
(B) A T wRTE A

O TR
(D) ufe (T R L
(B) orgufa sy
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134

Select the correct 'statements from the following :
o Cancer iscaused by uncontrolled cell division.
b Hepatitis-A is eansed by bacteria,

c. Naemophilia is o genetic disorder.

d. Leprosy is n viral disease,

Choose the most appropriate answer from the

options given below:
aand ¢ only

(A) n,band cenly (B)

(C) bandconly (D) = and d only
(E)  Question not attempted

PrefRrfere 3 2wt Rt w1 s

a. ﬁmtmﬁuﬁaqhﬁmﬁwm%ﬁmﬁmﬂl
b, R¥ersfea- A sfaropdl 3 oy dar &

. iR SR fram

d. B 3 (el o Rrrey sr=r A

A fr e et 3 wpertfires g SwCT:
(AT Fawa, balite (B) Faeradie
(€) ¥abae @ Faera 3iitd

(E) Fgai@ s

is reddish brown, bean shaped
structure present in lower abdominal cavity

Choose the mast appropriate answer N:cl
(B) Kidney : :

(E} Question got a

=t 2

human beings.

options given below: ' .
(A) Thyroid gland ~ 1 N

(C) |Liver "\}

(D) Gall bladder \>

cihpte
- I () 35 s

AT & S et wht sata et & Fraey s ard
frmfaftn e § & Faiiis sgm s
() wmiss iy

_AB) T (T

DEF - B14 ] B

(€) % (Em
(D) framm (e =0

(B) i@ wd

28

27

28

135  Identify the Rojasthani player

S

who has not play,,

cricket in Indian Crickel team.

Choose the most appropriate answer from

options given below:
Aanantjit Singh Naruka

(A)
(n) Gagan Kishanlal Khoda
(C) ltm*_uma nt Singh
(D) .P.ﬂrtlhlnsarathy Harishchandra Sharma
(E) Question not attempted ;
g T feremet R st findhe di i By
il wel, &-
vt el 8 T SO I
(A) oriasfa ffE T
(B) T fRTEET e et
(©) wrafiE o

© (D) wdareh zrmaf
(E) o

NG

136 Nu@y cgg is a rich source of:
m roteins

< b.b Iron and phosphorus
: Unsaturated fatty acids
d.  Carbohydrates
L3 "Vitamin E
Choose the most appropriate answer from e
options given below: ' :

(A) c,dandeonly (B) aanddonly

(C) bandeonly (D) a,bandconly

(E)  Question not attempted

e o 3fe & s e wgm A &

a. U

b, 6 i wreRE

¢ STHTW W1 3wt T

d, Wﬂ‘ﬁl’{t?ﬂ

B ﬁﬂﬁ:{ﬁw

A R e R i 4 v e 3L
T e, d e e RS a 2T

G FEbake () Faera.b3MNE

(E)  srgafesy
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\hich of the following is not a protein present in
milk?
Choose the maost appropriate answer from the

137

pptions given below:
{A) Lactose

(C) Lactalbumin [D'} ) .La.c'lnglubulin
(E) Question not attempted

Fofor 2 3 T T e s

(ﬁ}..l C;;s.cm
At _
o P s g e g

The common test to check adulteration of ghee
ith animal fatis:
Choose the most appropriate answer from the

138

141

\_I:lﬁe\ sum of ¥ 23,450 is divided among A, B, C and

D such that they received the money in the ratio
GFA:BBZ:J.B:C-S:GnndC:DBS 1 4,
How much money did D receive?

7 23,450 1 T A, B.cwnfzmmam
nft‘ma%mmﬁm"ﬁaﬁqmn:sq 3.
B:CﬂS:GHﬂTC:DﬂJ:ﬁgID’Hﬁ'ﬁFﬂﬂﬂ
foem?

(A) TB8,150 (B) T 8,500

e 2 8,400 (D) 18200
(E) h{ﬁ:ﬁ?i%h not attempted / mgﬂfl'd' e

-
‘Digilocker” is a emment cloud based
platform pmvid:&e‘ pliation for:

Choose  the @aﬁrmre answer from the

oplions given below:
(A) Nitric acid test options low:
(B) Carbolic acid test (A) t% g clection felated data in a digital
(C) Baudouin test &"unn
(D) Halphens test ‘TIB\ : 2 vk
(E) Question not attempted i 4 Slodgroninn dJ_gua_I .
ot & "i@ ur £ fiemae & wig 79 * o (C) Storing important documents in a digital
A adEed & o form
ﬁ'ﬁf‘aﬁiﬁﬁ?ﬁ%ﬁﬁ waifires 39g ' (D) Storing precious metals in a digital form
E;: T Wl Ewﬁi 4 EI'UTI '\\} (E) ?u:stian not attempted -
T iR N i\ e T T T TS
iy et (AN e & : -
(€) Sar@ua & > Freafafta famedl § & waifdes I9gw® IO
: (A) et airst = fefreer v & v
139 A goldsmith has gold of 14 carat purity and 18 iﬁ; - hin

carat purity- In what ratio should he mix the tW0
to make an omament of 15 carat purity?

s T &5 T 14 3R @ 18 e g
e 1 1.5 4 TR BT Iy a3 Ferg 8 9

_ay 30 (B) 5:2
(C) 4:3 (D) 5:4

(E) Question notatlempied / yyafea ¥4

DEF.B14) 3 22

29

28

(B) T fefee st ol w e & ey
ACT wrnt Temast @ R v i o

w0 & ol ;
fe .
(E) ogufawy
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e upper limit of Joan amount proposed in the

first phaseCDf ‘Gopal Credit Card Scheme” for
one year ism . ,

Choose thepiost appropriate answer from the
options gi below:

 vrrarer SRfegyTE AT & W T # e
(A) 72,506,000 - .

_mr zsu@o

143

_options gived below:

© 27500 wft frede

(D) T 1.0&1)00 7 .
() Questdbn not attempted / Sﬂﬂftﬂ‘ W
o T

The first p&xe of "“Gopal Credit Card Scheme™
proposed @m 25" September 1-::-24 1o 8

October 2@ is to target rcachmg how many
Gopalak fdfillics?

Choose mHFasI wppmprmrz nnswcr t'mm Ihc

(A) _111';5'
®) 3hO
© Shgy
o) mabﬂ

(E) Quumnnnnt attern, :e\

AN
2:9’

=TT Y 25 firdat

1314]3- - 30

30

29

«Q:u

144 Who |s the minister of technical educating W

R-umll:J (in Seplcrn'ucr 2024)?
ChunsEl'lht: ‘wrost appropriafe answer from the
uplmn& };wcn below:
(A) Smt Diya Kumari
(B) Sliti Kirodi Lal
(C) El?ri Madan Dilawar
[DJ Dr, Prem Chand Bairwa
(B) Gliestion not attempted

mwr%:mﬁﬁrmnﬂ(ﬁwmnmm

' Wﬁﬁﬁﬂaﬂ%mmgﬁ

(A 'ﬁﬁﬁmw

2 _in projected GSDP (FY 2024-25).
Chuasct:'ljhe most approprigle answer from the
optiong-gjven below: s i
(A) - mﬁm!cventh)_.. -- | P '
® L3 crhica) g
(C) SU(Fifth)
© B (Seventh)

(E)  Question not attempted

“‘“%ﬂ & Ry, 2024 & et fd &

ST 3 11t ¥, raver o 1t (1
‘?‘m’%”ﬁmzms T d:

ﬁwﬁmﬁm%mmmﬁ
(A)

@) fmu

(C) wi=at

(D) WAt

(B) rgafrrws

J [ Contd~
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146 According  to” modified" budpet 2024-25 of
Rajasthan, how much moncey, is allocateg wider

“Doctor Shyama Prasad Mukherjee Zjla Utthan

Yojana™?

Choose the most apprnprmre unswur from the

options given below: e

(A) 900cr (B) ' 300 &r

(C) 500cr (D) .700¢r

(E) Question not n.ltcmpu:d 5 7

e & wfEfT T 202425 %

gt T e T et Sear AT g et

vt STrefe & ¥

Frefafaa freedt § & waffos gugw smoa:

(A) 900 - 300FE, -

(C) S00IE (D) 700%IT

(E) Smufawer - '

147 Where is the place of ungm of Luni river of

Rajasthan? i
Choose_the maost appmprfnrc,.answcr_ from the
options given below:

(A) Eastern Satpura range

(B) " Amarkantak '

(C) " Nagg-Pahar

(D) Angsi Glacier P . \
(E) . Question notattempted .. . - ‘\

(a)_ wefi wagsTaelt (B)
)y APHEE (D)

E) srgai s *\iﬁ

148 wWhich one of the fm hot winds blows io

Rajasthan?

Choose the #0st appropriate answer from the
options given below:

(A) Sirocco | ,(B) Khamsin.

€ Loo .. () Chinook

(E) Qunstlc-n not aﬂemmcd

Tereyr & T4 AT @anﬁqf%{fﬁaﬁﬁ

149 Chulia a water fall is located in which of the
following physiographic mgianls of Rajasthan?
Choose the most appropriate answer:from the
options given below:

(A) Aravaliregion

(B) Western desert plain region

(C) Eastern plain region

(D) South-castern plateau region

(E) Question not attempted

e et o T ﬁrraﬁiﬁ!m # % e

sitferas & ¥ fla 7

Pt e 8 & gratfires 3ugw 3o g
() ST &y,

(8), W gyt art

©

D) qardt &

m{u.. o

0‘-"\‘.']11:}1 of the l‘ullowlng types of forests are not
' found in Ra_;a.kthan?
Choose the most appropriate ar;swcr from the

* options given below: %

(A) Tidal forest )
(B) Tropical thomn forest
(C) Tropical dry deciduous forest
(D) Sub-trapical montane forest
(E) 'Q.ucslinn'ﬂi}lntlemptcd-
ﬁmﬁrﬁaﬁﬁﬁamtwmﬁqﬁqﬁm
L

AN S saig g7
(B) wrfm FRER T

ﬁqﬁmﬁﬁﬁﬁﬁwﬂmmﬂmmﬁ ©  Swrea e wiawdt o
(A) s (B)  wwwA (D) SR v g
Aeriw Y (D) forpm (B) smmfeawr
() swErasd |
PEF<B14 | 3 31_ [ Contd...
1

30
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